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24D Y 35% h0y7 0.4 kg 8,100| 5,184| 1,296
F£<(AH HExtER5| =877 1hngy7 1.5 kg 8,100| 5,184| 1,296
=2¢5h E=FERT |EH N7 0.5 kg 8.100| 5,184 1,296
MhCZE # Y35 kg —_— — _—
ya N D=3 X ER S| kg = ——— —-—
MhCE E=HRT kg == e s
ho By = 04 ke | ==| ms —
mnoEB fHxiEs| =I5 0.1 kg —— 756 —
moE E=FHRT |=TH 0.1 kg = 756 —_—
=T HU5E kg o o -
=T axtHL 5| kg e —— —
= E=FWRT kg et e s
=7 Y58 A" FE 0.1 kg 2,160] 1,620| 1,296
=9 HExERS| =1 BmE 0.1 kg 2,160] 1,620| 1,296
oy § E=FRE |F FkH 0.1 kg 2,160] 1,620 1,296
LWhL H+Y5E b5/ 45z =l 0.1 kg 540 — 378
LbhL > ER 5] fhE Al 0.3 kg 540 e 378
WL E=HRE |(fH Al 0.2 kg 540 — 378
HL Y5 £ I 0.1 kg 702 —_— 648
HL >t ER 5] F 5 0.1 kg 702 —_— 648
HL E=FWRE |E& 0.1 kg 702 —_— 648
S Y% £ 01| ke | —| 8| —
3y HAxtE 5| RIF 0.1 kg — 389 _—
s E=EEE B 01| ke | —| 389 —
SAE Y5 kg — — S
SAE tERRa] 'SR R R
SAE E=EH® e | = = =
Al Y 35E = 0.1 kg 594 - 540
b HHxEE] K& = 1.1 kg 1,026 918 540
Al E=HRE |K% = 0.3 kg 1,026 918 540
[03>Y:] # Y5 #mA 5 0.2 kg 2,160 1,080 432
[0 3>Y.5) tH>xtHLS] BE =1 0.2 kg 2,160| 1,080 432
[03=Y.2] FE=FERE (PH = 0.1 kg 2,160 1,080 432
ya)y (A A #Y5% e tiEE 0.1 kg 702 648 238
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)V (A > ELSI im dbiEE 0.2 kg 702 648 238
Ny AR E=FW{T |FH ieiEE 0.1 kg 702 648 238
=6 T35 - 0.1 kg 972 i 918
=6 HxtEE| = 0.1 kg 972 — 918
=6 E=FHRST |FH 0.1 kg 972 —— 918
EFoF & Y5E kg = e ==
Foit HxTERE] kg aac TS
[FolF E=FRE kg sm])  cmesl] e
[ o o 1 4 V)5 Wiz 0.1 kg ===t 1,836 —
e o e x5l itz 0.1 kg -—| 1,836 —
o d 2 o F=F{E LUK 0.1 kg ~— 1,838 —
= B Y35E = 5 0.1 kg 1.512 156 3178
=Ly >t EE] = BF 0.2 kg 1,512 756 378
yprd FE=FHET |EW B 0.1 kg 1.512 156 378
LA HY35E kg =] ==l S
[ELA >t E S| kg — -] —
ITLA E=FK5E kg — - -—
PYLm, & U5E B 2 kg ,268| 1,512 972
RCh ARV AxTERE] 5 2 kg ,268| 1,512 972
P E=FWRET |FH iy 1 kg ,268] 1,512 972
ELH Y5 kg — — -
EJAV HAxtELE] kg — — -_—
EJAY: FE=FWRT kg — —_— =
T HUY35E =i 0.1 kg —| 1,880 s
e xS =i 0.1 kg —| 1,836 —
f=C E=FWET |BH 0.1 kg —| 1,836 —
EAEA 2 Y5E dbimE 0.1 kg —| 4,104 —
EAEA xRS dtisE 0.1 kg —| 4,104 —-
EANEA FE=FRE (dEE 0.1 kg —| 4,104 —
ZTDOhEER HY35E 0.1 kg e
Z Dt FExtER Sl 2.0 | ke — -] —
T DA E=FRE 0.1 kg —_ -] —
WEAY HY5E kg e e
BEAY HExtERSI {397 WE7T7 0.6 | kg 3,240| 2,160 864
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AEZ E=ERE |[OVRT |EETCT 0.2 | kg | 3,240 2,160 810
AUE LD #1358 kg = == ==
AR izpopiG] CE: AEF 0.7 kg 540 432 302
AE LA E=FH/E |BH KEF 0.4 | ke 486|  324| 270
AEML |[BYSE ke — —| —
AEMNLY |HEREREI ht4 FAYR 0.7| ke | 1,188 810] 432
ALY |EEERE |(HTS FAYN 0.6 | kg | 1,134 756| 270
FDHhA #Y5E kg -— — —
F DA E > ELS] 2.2 kg - — —
T Dt E E=FR5E 1.5 | kg ==y =] ==
ERET &5 kg — — e
B E T R ERBI a7 jtimE 0.3 | ke ,700 1,836 540
I\ ET FE=FWRE (OT7 JbiEE 0.4 kg ,700| 1,836 540
BT Y358 kg — =] -
BT FERERE FAYH |Fow—Y 0.2 | kg | 7,560 3,780| 2,376
BT E=FRE |TAUA |Tovw—5 0.2 | ke | 7,560 3,780| 2,376
BIRF Y5 kg | = —
BIRF AR EE| FAYAH BT 0.3 | ke ,780| 2,376| 1,296
BIRF g=FERE |7AUH AT 0.3 | ke ,780| 2,376| 1,296
T DhIEF T U5E kg — — —
FOMEF  |HERERE 6.7 | ke 648|  594| 486
FOMEFT |E=HERET 4.5 | ke 648|  594| 486




